YDS DENEMELERI

The English Revolution of 1688, confirming that
Parliament had power (1)—- the king, meant, in
economic terms, the supremacy of the more
affluent classes. From 1688 to 1832, the British
government was (2)—- in the hands of the
landowners. The result
was a thorough transformation of farming, an
Agricultural Revolution without which the
Industrial Revolution (3)—-. Many landowners
began experimenting with improved methods of
cultivation and stock raising. They made more
use of fertilizers
(4)—- introducing new equipment such as horse-
hoes and drill seeders. Further improvement
required an investment of capital, which was
impossible (5)—- the soil was cultivated by
numerous poor and custom-bound small
farmers.

1.)

A) within B) along C) into
D) to E) over

2.)

A) primarily B) delicately C) diligently
D) thoughtfully  E) inquisitively

3.)

A) need not have occurred

B) should not have occurred

C) shall not have occurred

D) could not have occurred

E) will not have occurred

4.)

A) opposite of B) besides

C) because of D) as regards

E) at least

5.)

A) only if B) as much as
C) so long as D) as though
E) however

The health risks of artificial feeding of infants in
the industrialized world are now (6) —. Breastfed
infants receive protection (7) — many illnesses
including gastroenteritis, respiratory infections,
and otitis media, and have a lower risk of atopic
disease and insulin-dependent diabetes in
childhood, (8) — women who breastfeed may
have less risk of some cancers and hip fractures
in later life. In addition to the health benefits,
there are also significant cost implications. The
United States Department of Agriculture has
estimated that a minimum of $3.6 billion per year
(9) — if breastfeeding rates were increased from
current levels to (10)— recommended by the
United States Surgeon General.

6.)

A) well-built B) well-preserved
C) well-connected D) well-kept

E) well-established

7.)

A) about B) towards C)to

D) against E)for

8.)

A) as if B) since C) while

D) as though E) even if

9.)

A) could save

C) should save

E) has been saved

B) were to be saved
D) would be saved

10.)
A) those B) what C) whose
D) which E) them

Nanotechnology is only the latest of a series of
developments in materials science, in which one
studies materials with a (11) — towards
developing useful applications.
Telecommunications is an example of an area in
which the development of new materials has had
(12) — impact, leading to rapid change in the
technology. (13) —, telecommunications was
restricted to voice communication by telephone
using copper wires to carry a message in the
form of an electrical signal.

Today, it is just as likely that fibres of pure
glass, or fibre-optic cables, (14) — the message
in the form of light pulses. An advantage of
fibre-optic cable is that it can carry (15) — more
information than a copperwire cable of similar
size.

11.)
A) result B) conclusion C) view
D) conviction E) move

12.)

A) thoughtful B) generous C) similar
D) immense E) sensible

13.)

A) However B) Therefore*

C) Otherwise D) Furthermore

E) Initially

14.)

A) carry B) had better carry
C) carried D) was to carry

E) would have carried

15.)
A) a few B) less C) many
D) much E) too



16.) In ancient Greece, as wealth increased and
public buildings became more elaborate, ---- .

A) resemblances to Egyptian sculpture were
superficial and casual

B) knowledge of Greek sculpture depends largely
on the stylistic study of its relics

C) they were embellished with sculpture

D) ideal beauty had always been an essential of
sculpture

E) they show the sense of pattern and the
preference for ideal forms

17.) Although adoption is mentioned in the legal
codes and writings of many ancient peoples,
including Romans and Hebrews, ---- .

A) no such laws existed in Europe prior to the
middle of the 19th century

B) children without parents were generally sent to
public institutions known as "almshouses"

C) in the United States, the practice has increased
since the Vietham War

D) especially in Europe "open adoption", in which
adoptive and birth parents are known to each other,
has become more accepted

E) international adoptions have increased
dramatically over the last decade

18.) ---- that need to be solved.

A) More detailed information would have enabled us
to find solutions to the problems

B) Some managers are in favour of routine reports
on progress being made

C) He should have been able to identify such
problems in the early stages of development

D) The first stage in decision-making is the
identification of problems

E) Once a problem has been perceived

19.) If the war is of short duration,---------

A) a deep recession would have been possible

B) oil prices are likely to rise briefly and then fall
sharply

C) a weak economy is obviously more vulnerable
than a strong one

D) in contrast with American ones, Europe's stock
markets have underperformed

E) such imbalances should have been corrected a
long time ago

20.) ---- which restricted access to information
directly related to the production of biological
weapons.

A) The instructions were all transmitted verbally

B) There is considerable concern about legislation
C) They are demanding an amendment

D) The fear is that such a measure might hamper
research

E) The British Parliament recently passed a law

21.) ---- but indicated that no final decision had
been made.

A) President Bush said Irag would have had

nuclear weapons fairly soon if the United

Nations had not started arms inspection

B) Sanctions imposed on Iraq after its defeat in

the Gulf War in 1991 required Iraq to destroy

any nuclear, biological and chemical weapons

of mass destruction

C) President Bush reiterated at a press conference
yesterday that the US was considering an attack on
Iraq

D) Policy analysts have concluded that foreign
support for a military campaign against Iraq is

scant

E) Defence Secretary Rumsfeld said that the US
had solid evidence of links between terrorist
networks and the Iraqi government

22.) For a long time no one was able to explain --
A) though none of their ideas were actually
mainstream ones

B) if so many academics had opposed the

Vietnam War

C) while he had a better understanding of peasant
societies

D) why the Vietnamese peasants didn't want

to be liberated

E) whether this informal economy should have

been taken seriously

23.) J. Marshall has been running the company
since 1979, ---- .

A) since a large proportion of the shares are in the
hands of profit-oriented investors

B) if he had cooperated with this new breed of
investor

C) which was well-known for its aggressive
insurance policy

D) whether or not such a strategy would prove
viable

E) when he became the first manager to come

from the sales force

24.) ----, there will be almost no change in the
way it does business.

A) Since the sales target for the first year is quite
modest

B) If this is really a new departure for the company
C) Once the new office staff had become
familiarized with the routine

D) Although the company plans to branch out into
new territories

E) Whether or not the market share has risen



25.) The Indus, ----, provides vital water supplies CEVAP ANAHTARI
to vast regions of desert.

1E

A) as the water in three eastern tributaries has 2 A
been assigned to India 3.D
B) that it flows through Kashmir and into Pakistan 4.B
C) since it has given rise to years of dispute 5. C
between India and Pakistan 6. E
D) whether the tributaries mostly rise in the Indian 7.D
Himalayas 8.C
E) which is one of the world's largest river systems 9.D
10. A

11.C

12.D

13. A

14. A

15.D

16.C

17. A

18.D

19.B

20.E

21.C

22.D

23.E

D

E




